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ha kg t ha kg t

4 Rk 30 4E| 1,470, 000 529 17,780,000 750 232 1, 740

T # o Bk 26 4R 108, 000 497 537, 100 - - -

27 105, 800 508 537, 200 - - -

28 104, 500 516 538, 700 - - -

29 103, 200 510 526, 600 - - -
30 103, 100 502 517,500
37 7 31,700 512 162,300
ho #B 14,500 502 72,800
N B 5,010 494 24,700
I JeE: 37,000 492 182,000
= B 8,580 514 44,100
ook 6,430 492 31,600
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ha kg t
B R 26 33, 000 502 165, 700
27 32, 200 518 166, 800
28 31, 900 534 170, 300
29 31, 700 517 163,900
30 31,700 512 162, 300
X H# W 1, 220 492 5,990
Z R 1,790 519 9, 290
E & W 5, 430 493 26, 800
AT T\ % T 2, 700 535 14, 400
Hod o 860 526 4,520
SEOOW T 1,130 530 5, 980
EOR 398 511 2,030
CI ] 2, 590 502 13, 000
oY T 1, 460 525 7,670
W oM 396 507 2,010
S = B ] 3,230 496 16, 000
W L 5, 370 529 28, 400
b S S ] 1, 460 485 7, 060
H % & 1, 100 512 5,610
N O 1) 811 533 4, 320
% i HT 895 522 4, 670
o mr 243 522 1, 270
B B H 347 525 1, 820
% B Hy 276 501 1, 380
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ha kg t
AR SF Rk 26 4R 15, 200 507 77, 100
27 15, 000 510 76, 500
28 14, 800 516 76, 400
29 14, 700 510 75, 000
30 14, 500 502 72, 800
TG S ] 1, 080 493 5, 320
A ST ) 1, 600 479 7, 650
O T 600 474 2, 840
S ] 1,320 489 6, 470
F Oy i 188 523 983
HoOE 345 481 1, 660
(N T I 1, 530 546 8, 380
W BT 178 518 922
mo H W 66 500 330
£ M o T 71 500 355
VAN ST ] 242 524 1,270
BOHE 363 515 1,870
o #% 2, 550 500 12, 800
£3] il 1,510 513 7,720
A EE I T 535 519 2, 780
Ko gy BT 10 497 50
NAE 1 HT 215 523 1,120
H o F 60 503 302
F 6 H R ET 98 514 504
B T 16 485 78
o HOHT 71 496 352
% T 200 523 1, 050
[T ) 90 484 436
Iy W WY 770 486 3, 740
AR HT 109 469 511
5. 3t 97 HT 669 495 3,310
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ha kg t ha kg t
KR % 26 4F 5, 550 495 27, 500 Rk 26 4F 37, 900 487 184, 600
27 5, 440 495 26, 900 27 37, 300 501 186, 900
28 5, 310 505 26, 800 28 37, 000 501 185, 400
29 5, 150 506 26, 100 29 36, 600 501 183, 400
30 5,010 494 24,700 30 37,000 492 182, 000
X B il 27 485 131 S I ] 2, 250 502 11, 300
o il 529 499 2,640 N S ] 2, 000 500 10, 000
& f | o 139 498 692 N 37 469 174
= S B 23 485 112 B & 306 508 1, 550
o omT 14 488 68 [ S ] 68 467 318
/= B ] 16 485 78 74\ I N o1 794 512 4,070
ROR HE T 14 494 69 === ] 1 428 4
O 380 496 1, 890 * il 41 488 200
H B 122 494 603 oL W 192 505 970
S 6 485 29 L S T ] 2, 950 491 14, 500
B 319 497 1, 590 o T 1, 100 517 5,700
/.S N ] 347 494 1,710 I S ] 415 508 2,110
N B T 125 492 615 [LE N A} 713 476 3, 390
IR ] 293 491 1, 440 £ OB H 179 482 863
(=S I N ] 242 499 1,210 = A 1 2,100 470 9, 880
BRI W 74 490 363 = A ] 109 503 548
TN R B 164 485 795 Jil v T 50 488 244
(/A S ] 81 497 403 AN B 1, 420 505 7,170
X H M 25 488 122 = W T 1, 240 496 6, 140
fn ®Rom 221 494 1, 090 moomo T 2, 060 505 10, 400
B om oW 82 491 403 Zi- 3 (R ) 2, 240 490 11, 000
i I ST ] 16 484 77 & KW 722 482 3, 480
PO B 117 499 584 oo 2, 840 473 13, 400
=N 24 485 116 Mbdbb Uit 1,570 509 7,980
B o®H W 28 485 136 ook 957 488 4,670
[ S ] 11 494 54 - S ] 926 506 4, 690
O SF o 22 495 109 KOE O 970 474 4, 600
J: N 78 489 381 R 1, 870 488 9,110
®om M 156 489 763 = o> O T 1, 310 514 6, 750
o BE 61 491 300 ¥ 4 I BT 185 481 890
2 B H 115 491 565 % W HT 879 456 4,010
KB e 1T 71 497 353 fa £ HT 820 512 4, 200
Pk m 10 86 490 421 % B W 23 502 115
BoOAR HT 19 493 94 Moo HT 448 484 2,170
woofe T 120 488 586 GO 1 345 502 1, 730
He B T 467 497 2,320 g WY 349 461 1,610
A HT 10 494 49 K+ W 186 510 949
RE Iv HT 69 491 339 = E T 495 497 2, 460
H i HT 20 489 98 = B T 729 485 3, 540
i T 26 487 127 ) 509 472 2, 400
KXo T 51 492 251 R R nT 557 479 2,670
= 1 148 495 733
T H R BRAT 47 489 230 BB BEMOK R RS T1EmHeEH]

BEE  RMOKPER RS TEYHEEE]



NV EEYMOE - 153 -

(2) AKFOEFmfE, 10a 472 INELOINHERE ()
K F KA
YAN N IN NB
T e e =9 e T e 108 01 e
= N&=
&) (2) (3) (1) (2) (3)
ha kg t ha kg t
mE PR 264 9, 060 514 46, 600 kL SFR26e4E 7,230 492 35, 600
27 8, 870 515 45, 700 27 6, 900 499 34, 400
28 8,710 525 45, 700 28 6, 720 507 34, 100
29 8,610 521 44, 900 29 6, 560 507 33, 300
30 8, 580 514 44,100 30 6, 430 492 31, 600
= R 1, 360 514 6, 980 ok ot 1, 560 508 7,940
K H 276 530 1, 460 Wom T 245 502 1, 230
K F AR 1L 610 527 3, 220 oI N ] 377 499 1, 880
X B W 825 518 4,270 A B Ol 23 496 114
o 496 531 2,630 2 I B ] 328 488 1, 600
(7 ] 396 515 2, 040 32V R 321 456 1, 460
fofE T 415 495 2, 050 s oW 72 429 309
w|oopr T 527 516 2,720 oo I T 835 513 4, 280
£ B ™ 196 513 1,010 = B 1] 352 512 1, 800
H &£ W 131 515 675 fo £ B oMy 112 472 529
woOoWom 395 522 2, 060 Mmoo L KT 155 496 769
FoOokE T 684 486 3, 320 Ju B HT 21 486 102
o as A 147 481 707 o By HT 17 434 74
OB HT 69 512 353 G- 1) 21 491 103
= 45 Hy 9 512 46 &I ET 109 492 536
B Mg HT 138 525 725 A W Il W 165 453 747
g ) 90 525 473 x & HT 133 444 591
JII v AT 134 524 702 H & 0T 317 483 1,530
= £ Hr 119 524 624 m B W 69 488 337
MR A HT 553 525 2,900 Fl @ T 169 487 823
O A 41 462 189 F Tp XOHT 119 489 582
Zi I G ) 80 462 370 A & Il W7 212 471 999
& H HT 113 512 579 H & HT 271 485 1,310
BH A F & 155 513 795 = B 170 505 859
B % HT 41 515 211 T X A HT 73 432 315
£ F T 21 514 108 AR A 15 T BT 93 446 415
N B ET 324 529 1,710 KoHh Wy - - -
ST I 74 515 381 i EE I T 33 420 139
& OBy 47 459 216 b A 1 409 4
X & HT 63 482 304 HBOR HT 50 443 222
T o T 33 459 151
B2 OE M 2 395 8 R BEMOKPER RN TYERReRE]
XA 1 377 4
B | I A 1 363 4
+ A I A 7 393 28
Ak W AF 5 384 19
+db A - -
JI B K - - -
W E R 2 394 8
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